Wed, Nov 13, 2013 MATH 250, Quiz 7

Name (print): Q&‘ ﬁb” &,

Prof. V. Panferov

Each problem is worth 2 points. Show all your work.

1. The function f(z,y) = xy— 2z — 2y —z? —y? has a critical point at (—2, —2). Determine
its type (local maximum/minimum, saddle point...).
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2. Find all critical points of the function

fz,y) =y — 2ycosz.
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3. Set up the Lagrange Multiplier method equations for the problem. Show that the number
of equations matches the number of unknowns. Do not solve the actual equations.

{ f(x7y,z)=yz+wy—>max

glz,y) =xy=1, h(z,y,2) =y*—2>=1 (constraints).
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